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Paramètres	
  par	
  défaut	
  :	
  Principe	
  

•  Si	
   aucune	
   valeur	
   n’est	
   passée	
   en	
   paramètre,	
   la	
  
valeur	
  par	
  défaut	
  est	
  aBribuée	
  

•  Si	
   une	
   valeur	
   est	
   passée	
   en	
   paramètre,	
   ceBe	
  
valeur	
   est	
   uClisée	
   pour	
   «	
   remplir	
   »	
   le	
   champ	
  
correspondant	
  

•  Applicable	
   à	
   tous	
   les	
   types	
   de	
   foncCons	
  
(foncCons,	
  méthodes,	
  constructeurs)	
  



Exemples 
class Personne: 
 

 def __init__(self, n, p, a): 
  self.nom = n 

  self.prenom = p 

  self.age = a 
 

 def afficher(self): 

  print(self.nom+" "+self.prenom+" "+self.age) 



Exemples 
class Personne: 
 

 def __init__(self, n="nom inconnu",  
        p="prenom inconnu", a=-1): 

  self.nom = n 

  self.prenom = p 
  self.age = a 

 

 def afficher(self): 
  print(self.nom+", "+self.prenom+", "+self.age) 



Exemples 
Code	
  :	
  
 p = Personne('Sallaberry','Arnaud',29) 
 p.afficher() 

Affichage	
  :	
  
 Sallaberry, Arnaud, 29 

 
 
Code	
  :	
  
 p = Personne('Sallaberry','Arnaud') 
 p.afficher() 

Affichage	
  :	
  
 Sallaberry, Arnaud, -1 

	
  



Exemples 
Code	
  :	
  
 p = Personne(p='Arnaud') 
 p.afficher() 

Affichage	
  :	
  
 nom inconnu, Arnaud, -1 

 
 
Code	
  :	
  
 p = Personne(n='Sallaberry',a=29) 
 p.afficher() 

Affichage	
  :	
  
 Sallaberry, prenom inconnu, 29	
  



Exemples 
Code	
  :	
  
 p = Personne() 

 p.afficher() 
Affichage	
  :	
  
 nom inconnu, prenom inconnu, -1 
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Décomposer	
  une	
  chaine	
  
 
s1 = "Einstein Albert UPV"  
mots1 = s1.split() 
mots1	
  conCent	
  la	
  liste	
  :	
  ['Einstein', 'Albert', 'UPV’] 
mots1[0] conCent	
  la	
  chaine	
  'Einstein’ 
mots1[1] conCent	
  la	
  chaine	
  'Albert’ 
mots1[2] conCent	
  la	
  chaine	
  'UPV’ 
 
 
s2 = "Einstein;Albert;UPV"  
mots2 = s2.split(";") 
mots2	
  conCent	
  la	
  liste	
  :	
  ['Einstein', 'Albert', 'UPV’] 



Recomposer	
  une	
  chaine	
  

mots =	
  ['Einstein', 'Albert', 'UPV'] 
 

s1 = " ".join(mots)  

s1	
  conCent	
  la	
  chaine	
  'Einstein Albert UPV' 
 

s2 = ";".join(mots)  

s2	
  conCent	
  la	
  chaine	
  'Einstein;Albert;UPV' 
 

	
  



Accéder	
  aux	
  leBres	
  

 
nom = 'Einstein’ 
	
  
	
  
print(nom[3]) 	
   	
   	
  's'	
  
print(nom[3:6])  	
  'ste'	
  
print(nom[3:]) 	
   	
   	
  'stein'	
  
print(nom[:3]) 	
   	
   	
  'Ein'	
  


